FORM PL-PR-18A (FORMERLY PL-PS-10A) REVISED JULY, 1963

ED JOE 1, 1963				
ВҮ	-LAW NUMBER	2142	Abandoned-neple	2164
	of		<i>V V</i>	
THE CORPORA	TION OF THE	ÇITY	OFNORTH.BAY	
A By-law to Auth	norize the Execut	ion of a Proposa	l and Estimate	
of Costs and its	Submission to th	he Minister of Hi	ghways for the	
Province of Onta	rio Pursuant to a	an Agreement wi	th Her Majesty	
the Queen in Righ	t of Ontario as Re	epresented by the	e said Minister	
Entered into und	er Section 22 of	The Highway Imp	provement Act.	
"WHEREAS a pro	posal and estima	te of cost dated th	ne 28TH day of	
FEBRUARY 19 64	for the construc	ction of		
.Concrete.curb.	and gutter, .si	dewalks, .HL.4	Resurfacing.	
Cassells Stree	et from Third A	Avenue to Main	Street	
being part of a l	nighway designat	ed as a connect	ing link has been	
prepared for subn	nission to the Mini	ister of Highways	for the Province	
of Ontario pursua	nt to an agreeme	ent with Her Majo	esty the Queen in	
right of the Provin	ice of Ontario as r	epresented by the	said Minister."	
BE IT THEREFO	ORE ENACTED b	by the Council of	The Corporation	
of the CI	TY of	f NORTH	BAY :	
1. That the here	inbefore recited	proposal and est	imate of costs be	
submittedtot	he Minister of Hig	hways for the Pro	ovince of Ontario.	
2. That the May	or, Reeve and Cle	rk be and they ar	e hereby author-	
ized and dire	cted to sign the h	nereinbefore rec	ited proposal and	,
estimate of co	sts and to affix the	ereto the seal of	the Corporation.	
Passed by the	e Council of the C	Corporation of th	e CITY	
of NORTH BAY	_, this2 rea	day of	Davel 1964.	
			2 xuin	
		Mayo	Reeve	
(SEAL)		·/-	a. Frais	

Clerk

\$ 24,819.38

_		CITY OR SEPARATED T	own)						
(FORMERL REVISED J		1 011	M 1	APPE	NDIX NO	)			
REVISED J	OLY, IS	63		DATE		Feb	ruary 28th	1964	<del>k</del>
	EXT IN T	ID ESTIMATE OF ENSION OF THE CHE CITY NIPISSING		IGHWA	Y (OR	SEC		IGH W.	AY) NO.
Designat	ed Ro	ıte:	63B						
of NOF any neck Act, R.S. proposes link, be	ne agreent BA Bassary S.O. 1 s that const	approval of the Be 960, Chapter 274 at the following port ructed by the (Coencing the 1st day constructed):	en the Min to the term oard, unde nd amend ions of hig Cor rporation of of April,	nister and our Section ments to the section of the	nd the Condition 64 of thereto neretofon	The the cre	poration of the hereof, and e Ontario M Corpor (Minister of designated and during)	he CI's ubject unicip ation r Corpus a	tralso to al Board  poration) ennecting fiscal tion(s) of
accordantin the m	nce wi anner Type	on the plan or s th plans and speci and at a cost estim of construction 0	fications a mated and d	pprovedlivided	d by the substan	: Mi tial	nister and the ly as follows	ne Cor	rporation
(b <b>)</b>	Lengt	h 1700 l	t. Kesur	lacing			,		
(c)	Width	(not less than 22 f	eet)	<u></u>	40 Ft.				·
(d)	Comr	nencing at	<u></u>	Third	Avenue				
(e)	Term	inating at		Main S	treet				
(f)	Total	estimated cost of	constructi	on	Compl	<u>ete</u>	\$	33,3	92.50
(g)	Dedu	ct: Items not char (see Form CE	_	er agre	ement:	-			
	(I)	Items to be paid b (Paragraph 4 of a	-			\$_			
	(II)	Charged to others (Paragraph 12 (3)		nent)					
		North Bay H	ydro			. \$ _	300.00		
						. \$ _			
			-			. \$ _			
			_			. \$ _		_	
	(III)	Charged under Par The Highway Impr Total Deductions	rt X of					_ \$	300.00
(h)		nated Cost of Const ared 75/25	ruction to					\$ <u>_33</u>	3,092.50

(j) Minister's share (75%)

FORM PL-PR-18A (FORMERLY PL-PS-10A) REVISED JULY, 1963

(k)	Estimated annu For fiscal year		diture of Minister's s	share:	
	April 1,1964	to Mar	. 31,1965	\$ _24,819.38	_
	April 1,19	to Mar	. 31,19	\$	_
	April 1,19	to Mar	. 31,19	\$	_
	April 1,19	to Mar	. 31,19	\$	\$ 24,819.38
or incur	ne of submission	and that ior writ	estimated cost is based no substantial increaten approval of the M	ise in such cost w	vill be undertaken
	THIS PROPOSA	L is her	eby submitted this	3rd day of	March
19 64	by or on behalf o	of the <u>C</u>	orporation of the (Corporation of		Ba <b>y</b>
(SEAL)			10	- France	MAYOR
	and is hereby ac	cepted l	by or on behalf of the		CITY CLERK
			1C - m - m ti - m	- Minister	
	•		(Corporation o	or Minister)	
(SEAL)					
	· :	returns,	plan or sketch show also a statement of reakdown thereof sho d.)	f the total estima	ated cost in detail

## RESURFACING CASSELLS STREET - MAIN STREET TO THIRD AVENUE

FORM PL-PS-9 (FORMERLY FORM CE-9) REVISED SEPT. 1961

CONNECTING LINK in the City of North Bay being Cassells Street from Main St. to Third Avenue

	DETAILS OF CONSTRUCTION	ESTIMATED GROSS COST	SHAREABLE UNDER C.L, AGMNT.	CHARGEABLE UNDER PART X OF THE ACT	CHARGEABLE TO CORPORATION	CHARGEABLE TO OTHERS *	EXPLANATION
	Excavating Materials 400 cu. yd. @ 1.00	400.00	400.00				Excavation to sub-base for extra width.
-	Gran. Base in place 250 cu. yd. @ 2.00	500.00	500.00				Base for extra width.
1	HL.4 in place 1200 tons @ 8.00	9,600.00	9,600.00				Includes la base course and la surface course.
-	Conc. Curb & Gutter - Removal & Replacement 2280 lin. ft. @ 2.50		5,700.00				
_	Conc. Sidewalk - Re- moval & Replacement 2365 lin. ft. @ 4.50	10,642.50	10,642.50				Sidewalk replaced because of widening and change in road grade.
-	Catchbasins incl. leads & removal of old C.B.'s.						Catchbasins relocated be- cause of widening.
	15 only @ 150.00 Adjusting M.H. Frames & Covers	2,250.00	2,250.00				
	14 only @ 50.00	700.00	700.00				
	Moving Hydro Poles 3 only @ 200.00 Engineering & Cont.	600.00 3,000.00	300.00 3,000.00			300.00	Public Service Works on Hwy A
	TOTAL	33,392.50	<b>\$33,</b> 092 <b>.</b> 50			\$300.00	

<sup>\*</sup> Chargeable to others: e.g. Local Improvement Act; Railway Grade Crossing Fund; Public Service Works on Highway Act, etc:

)